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تمرينات (9):  تطبيقات على المصفوفات
                                         صـ 135 ـــ                                - 35 -
	1) 3 س + 2 ص = 7
    5 س -     ص = 3
     3     2          س             7   

    5     -1         ص     =      3
     3      2        

(  =   5     -1   = - 3 – 10 = - 13


     أ -1  =   1    -1    -2
             - 13  -5     3
وبضرب طرفي المعادلة في أ -1  

∿     س           1     -1    -2       7   

       ص     =   -13   -5     3       3

                       1    - 13
                =   -13   - 26
                
                               1
               =              2
     ∿  س = 1 ، ص = 2        

2) 4 س + 6 ص = 1
    2 س + 3  ص = 0
     4     6          س             1   

     2     3         ص     =      0
     4     6        

(  =   2     3   = 12 – 12 = 0
≀   (  (  0
( لا يوجد لها معكوس ضربي ( لا يوجد لها حل


	3) 2 س + 3 ص = 7

    4 س -  6 ص = 2
       2     3          س             7   

       4    -6         ص     =      2
     2      3        

(  =   4     -6   = - 12 – 12 = - 24

     أ -1  =   1     -6    -3
             - 24   -4     2
وبضرب طرفي المعادلة في أ -1  
∿     س           1    -6    -3       7   

       ص     =   -24  -4     2       2

                       1     - 48
                =   - 24   - 24
                

                               2
                =             1
        ∿  س = 2 ، ص = 1  
4) 3 س + 5 ص = 19

    6 س -  7 ص = 4
       3     5          س             19   

       6    -7         ص     =      4
     3      5        

(  =   6     -7   = - 21 – 30 = - 51

     أ -1  =   1     -7     -5

             - 51   -6      3   
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	وبضرب طرفي المعادلة في أ -1  
∿     س           1   -7     -5       19   

       ص     =  -51  -6      3       4

                       1    -153
                =  - 51   -102
                

                              3
                =            2
        ∿  س = 3 ، ص = 2              

5) 5 س -     ص = 3

    3 س + 2 ص = 7
     5     -1         س             3   

     3      2         ص     =     7
     5     -1
(  =   3      2   = 10 + 3 = 13

     أ -1  =   1     2     1
               13    -3     5
وبضرب طرفي المعادلة في أ -1  
∿     س           1      2     1       3   

       ص     =    13   -3     5       7

                       1     13
                =     13   26
                

                               1
                =             2
        ∿  س = 1 ، ص = 2  
	6) 2 س -  5 ص = 5
    3 س +    ص = 16

     2     -5       س             5   

     3      1       ص     =     16
     2     -5
(  =   3      1   = 2 + 15 = 17

     أ -1  =   1       1    5
               17    -3     2
وبضرب طرفي المعادلة في أ -1  
∿     س           1      1     5       5   

       ص     =   17   -3     2       16

                       1      85
                =     17    17
                

                                5
                =              1
        ∿  س = 5 ، ص = 1  
7) 2 س + 8  ص = 5

    4 س + 16 ص = 7

      2      8       س             5   

      4     16      ص     =     7
     2     8
(  =   4      16   = 32 – 32 = 0
≀   (  (  0

( لا يوجد لها معكوس ضربي ( لا يوجد لها حل
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	8) ∆ 3  س -    2   ص = ∆ 3  

           س + ∆ 3  ص =  6

   ∆ 3       -2       س           ∆ 3     

     1      ∆ 3       ص     =     16


         ∆ 3       -2       
(  =    1      ∆ 3       = 3 + 2 = 5

     أ -1  =   1    ∆ 3       2
               5     -1      ∆ 3
وبضرب طرفي المعادلة في أ -1  
∿     س           1    ∆ 3      2     ∆ 3               ص     =  5    -1     ∆ 3       6


                     1       15
                =   5     5∆ 3     
                

                              3
                =          ∆ 3
        ∿  س = 3  ، ص = 1  

(                                    (       

	


